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General Instructions :
All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each. Section - B comprises of 8 questions of
2 marks each. Section - C comprises of 10 questions of 3 marks each and Section - D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

Question numbers 1 to 10 carry 1 mark each :

If least prime factor of a is 3 and least prime factor of b is 7, the least prime factor of
(a+b)is:

(A) 2 (B) 3 (C) 5 (D) 11

If a, b are coprime, then a2, b? are :
(A) Coprime (B) Not coprime
(C) Odd numbers (D) Even numbers

The zeroes of the quadratic polynomial x?+99x +127 are :
(A) both positive (B) both negative

(C) one positive and one negative (D) both equal
The pair of linear equations kx +2y =5 and 3x+y=1 has unique solution if :
(A) k=6 (B) k=#6

() k=0 (D) k has any value

In an isosceles AABC, if AC=BC and AB2=2AC?, then £ C is equal to :
(A) 45° (B) 60° (C) 30° (D) 90°

1
If sina= 5 and « is acute, then (3cosa —4cos>a) is equal to :

1 1
B) 3 © 3

=1, the value of cot?A +

B) 2
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If secO+tanf=x, then tan® is :

If 25in20 = /3, then the value of 0 is :
(A) 90° (B) 30°

For the following distribution.

Marks Below 10 | Below 20 | Below 30 [ Below 40 | Below 50 | Below 6
No. of students 3 12 27 57 75 80

The modal class is :
(A) 10-20 (B) 20-30 ©) (D) 50 -60
SECTION - B
Question numbers 11 to 18 carry 2 marks each.

11. Find the mode of the given data :

Class Interval| 0-20 | 20-40
Frequency 15 6

If the areas of two similar triangles are equal, prove that they are congruent.

Find the zeroes of the quadartic polynomial 2x%— 25.

Find the LCM (306, 1314), if HCF (306, 1314) = 18.

Find the median of following given data :

x 6 7 5 2 10 9
f 9 12 8 13 | 11 | 14

Solve for x and v :
47x+31y=63 ; 31x+47y=15
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Prove that the line joining the mid points of any two sides of triangle is parallel to third
side.

c0s30° + sin60°
1+ cos60° + sin30°
OR
If ZA and £ B are acute angles such that cosA =cosB. Show that £ A= ZB.

Find the value of the expression

SECTION - C

Question numbers 19 to 28 carry 3 marks each.

19. Find values of a and b for which the system of linear equations has infinite number of
solutions :

(a+b)x—2by=5a+2b+1; 3x—y=14

Prove that 345 — 2 is an irrational number.

~ ar (ADFE)
Find = "(ACFB)

In fig.2, DE|BC and AD : DB=5: 4.

A

Fig. 2
OR

Two Isosceles triangles have equal vertical angles and their areas are in the ratio
16 : 25. Find ratio of their corresponding heights.

Compute the median for the following data :

Less Less Less Less
than | than | than | than
20 30 40 50

Class
Interval

Cumulative

16 30
Frequency
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If A, B, C are interior angles of AABC, prove that cosec(A-l_

OR
If sin(2A +45°)=cos(30°— A), Find A.

Prove that the square of any positive integer is of the form 3m or 3m+1 for some
integer m.

Compute f; and f, if mean of the following distribution is 62.8.

Class Interval| 0-20 20-40 | 40-60 | 60-80 |80-100 [100-120

Frequency 5 f1 10 fa 7 8

Check whether the polynomial g(x)=x3—3x+1 is the factor of polynomial
p(x)=x"—4x3+x2+3x+1

OR

Solve for x and y : mx—ny=m2+n?; x—y=2n

1
In an equilateral triangle ABC, D is a point on side BC such that BD = 3 BC. Prove that
9AD?=7AB2,

If x=asect+btan6
y=atan6 +bsech
Prove that x2—y2=a2—b?
SECTION - D

Question numbers 29 to 34 carry 4 marks each.
29. State and prove Pythagoras theorem.
30. In AABC, £B=90° AB=3 cm and BC=4cm. Find

(i) sinC (i) cos C (iii) sec A (iv) cosec A
OR
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1
If tanA = NEE AABC is right angled at B.

Find the value of sinA cosC + cosA sinC.

Prove that
2(sin + cos®0) — 3(sin*0 +cos*0) +1=0

The sum of a 2 digit number and number obtained by reversing the order of digits is 99.
If the digits of the number differ by 3. Find the number.

OR

A sailor goes 8 km downstream in 40 minutes and returns in 1 hour. Find the speed
of sailor in still water and the speed of current.

Solve the following system of linear equations graphically :
x+2y=>5 and 2x—3y=—4

Also find the points where the lines meet the x-axis.

Draw less than and more than ogive for the following distribution and hence obtain
the median.

Marks
No. of students
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(A) 2 (B) 3 (D) 11

Ife a, b TR & a2, b2 § :
(A) TEA
(C) fowma d=rd

fgema ague § 22+ 99x +127 & YIS §
(A) ST e (B) M e
(C) UH ¥AHE AT Tk FHUMHE (D) 3HI S

Yfash FHR I kx + 2y =5 T 3x +y =1 1 Afgdd g 2 afg :
(A) k=6 (B) k+#6
(C) k=0 (D) k1% i °H

s FAfgeTg 1991 AABC af¢ AC=BC d91 AB2=2AC2 9 LCHI AF ¢ :
(A) 45° (B) 60° (C) 30° (D)

1
Il sina = 5 AT @ Th IR & T (3cosa —4cosda) TR 7
1 1

(A) 0 (B) ©)

FHHA T

1
IfS cotA + =17 cot?A+ —
cotA cot

(A) 1 (©

Ife secO + tand = x I tand ST ¢ :

Ife 25in20= /3 WO HT HF © :
(A) 90° (B) 30°
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IEEIRRICAREC] 3 12 27 57 75 80
(A) 10-20 (B) 20-30 (C) 30 -40 (D) 50 - 60
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Ifq (HCF) 9.9.9. (306, 1314) =18 dI 306, 1314 &I (F.E.9) (LCM) I |

=1 TfRel i ARt 10 FU |

x |6 |7 |5 |2]10
fl9 128 ]13|11

xﬁ%y%ﬁf&%ﬁﬁ :
47x+31y=63 ; 31x+47y =15

fag wifee for et =1 <1 qemeti & 7e fowg =1 frem areft e dedt =T & FHET=R 8§ |

57 %1 T T Hﬁﬁfq : c0s30° + sin60
1+ cos60° + sin30°

areran
e £ AT £ B =TI 39 TFR © o cosA = cosB a1 MY L A= /B.

Q|Ue-g
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(a+b)x—2by=5a+2b+1; 3x—y=14
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&%a (ADFE)

21. 3Tfd (2) § DE|[BC A9 AD : DB=5:4 ql 91 &IST g (ACFB)

A

STpfa-2

arereT
31 gafgeng sl & 3id o guE ], 9°1 ST She 1 UM 16 : 25 1 dl ST G4
T3] o1 STIAT A1 |

=1 eAiemel w1 wifeaert Id U |

209 | 309 | 409
%9 | %9 | %H

T TR

=sec—.

fz A, B, C et AABC ¥ o=i: ®1v1 31 91 s #fr CoseC[A;Bj :

3UqAT
IS sin (2A +45°) = cos (30°— A) T A T HM F1d I |

fag FIfST fo oFIas quieh 1 o 3m, 3m +1 % &9 H 2| el m T oI |
frefafad aRaar sied &1 /e 62.8 B | Tl £, T £, T A1 I U |

Fiaaa | 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120
SRS 5 f1 10 f2 7

8

1040119 - C2




S Sife T g(x)=23—3x+1 8T8 p(x) =" — 4> +x2+3x + 1 T PHES 7
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x Ay % fd g U mx—ny=m2+n2; x—y=2n
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9AD2=7AB2
Ife x =asech +btand
y=atan6 + bsecf
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(i) sinC (i) cos C (iii) sec A (iv) cosec A
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Sin C

g =ifee

2(sin + cos®0) — 3(sin*0 +cos*0) +1=0
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33. 7= g g &1 I% g1 g 6l :
x+2y=>5ddl 2x—3y=—4
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